





Complete the following proof.

19)  Given: al|b
/5 is supplementary to £2

\
\
™/

I 3

Prove: I||m 7 / b
Statement Reasons
1. alib

2. /5 is supplementary to £2
3. L1= /5

4. /1 issuovlementary to £2
5.

20) Solve for x and y: (4 pts)

—8x+y=-17 and 5x-3y=-6

Identity each statement as either true (1) or talse (I) by circling the correct choice

21 F A triangle with all the sides equal in

measure is acute.

22 F  The capital letters CPCTC are an
abbreviation for the phrase
“corresponding parts of congruent

triangles are congruent.”

23) T The sum of the measures of the three
angles of an obtuse triangle is greater
than the sum of the measures of the
three angles of an acute triangle.

24 F  If the base angles of an isosceles
triangle each measure 37°, then the
vertex angle has a measure of 106°.

25) T

26) T

27) T

If a triangle has two angles of equal
measure, then the third angle is
obtuse.

If ADGO is congruent to ATRA, then
DG is congruentto T4.

'he largest side of a triangle is
~pposite the smallest angle.



28) Find the lengths of the missing sides. SHOW ~ 29) PR = QR and QS=RS. Ifthe mZRSQ = 130°,

WORK..! what is the mZQPR? Q
P -

S3A — U.U //
R<x +0.1
x+ 24 P — _

30) Find the measure of the missing variable.

Provide each missing reason or statement in the proof.

31) Given: «ZD=«C D C
DE=EC <
Show: AE = BE
Flow-chart Proof: A B

B



32) Given: A= /2

C
Z3=/4
Prove: AC = BC 1{2
314
A X
Statements Reasons
1. L= /L2 .
2. L3=L4 2.
3. CX=CX 3.
4. AAXC = ABXC 4.
I< A ﬁ &
33) Write a proof.
P
A
S T
R Q

Prove: QS = RT






